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3 point problems ( Oéuata 3 povadwv)

1. The kangaroo goes up 3 steps each time the rabbit goes down 2 steps. On which step do they meet?
To kaykoupo avePaivel 3 okohomatia kaBe dopd MOU TO KOUVEAL KaTeBaIVEL 2 OKAAOTIATLA. Z€ TTOLO
okahomatt Ba cuvavtnBouy;

(A)3 (B)4 (5 (D)6 (E)7

2. Mordka took a selfie in front of this castle.
H Mopvtka ninpe éva pwrtoypadia GEAPL UmpooTtd ano autd To KACTPO.

;

Which could be Mordka's photo?
Mota pmopet va eival n dwroypadia tng Mopvtka;

;

(A) (B)

(D)

o

(E)
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3. Nelly arranged the 4 pieces to make a picture of a bird.
O Nelly toktomoinoe ta 4 KOUUATLA YL VO KAVEL LA ELKOVAL EVOG TTOUALOU.

How are the pieces arranged?
Mwc lval To KOPUATLO TAKTOTIOLNUEVQ;

(A) (B) (€ (D) (E)

4. A magician is pulling toys out of his top hat always in the same order:
‘Evag payog Byadet Ta maxvidila amno to KameAo Tou mavta e tnv ibla oslpad:

B B o By B8 B Wy

The pattern repeats every 5 toys. Which two toys come next?
To potifo emavaAappavetal kaBe 5 matyvidia. Mowa SUo mayvidla €pxovtal oTn CUVEXELQ;




. . KANGOUROU MATHEMATICS COMPETITION 2020 - PART A
Thales Foundation LEVEL 1-2

5. José has two cards. Card A has holes.
O Xoo¢€ €xel U0 KapTeC. H kApta A £XeL TPUTIEC.

® x* %

O O mmmp % * *
® x

Plate A Plate B
Kapta A Kapta B

José places card A directly on top of card B. What can José see?
O Xoo¢€ tonoBetel TNV kapta A aneuBeiag ndvw otnv kapta B. Tt umopet va 8&L 0 XooE;

(A) === (B) == (C) == (D) == (E) ===

6. Mary made a shape using some white cubes and 14 blue cubes.
How many of these blue cubes cannot be seen in the picture?

H Mapla ékave £va oxn o XpNOLULOTIOLWVTOG HEPLKOUG AeUKoUG KUBoUG Kat 14 umAe kUBouc.
Moéoot and autolg Touc e KUBouUg Sev umopouv va davolv TNV KOVa;

(A)1 (B)3 (C)5 (D)6 (E)8

7. Inthepicture, Tarashadesall squareswhere theresultis 13. What pattern doesshe get?
YTnv elkéva, o Taooc oklalel OAa to teTpdywva tou Sivouv anotéAsopa 13. Moo oxnua Ba mapeL;

8+4 119 -6
20-5]16+7
A) B) (©) (D) (E)
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8. The braid in the figure is composed of three threads. One thread is green, one is blue and one is red.
What can you say about the threads?

H mAe€ida oto oxnua amoteAeital and tpia vipata. Eva vipa ival mpaowvo, £va sival PmAe kat aAAo
€va glval KOKkLvo. Tt propelte va meite yla ta viuoTa;

(A) Ais blue, B is green and Cis red. (A) A elvat pmAe, B mpaoivo kal C KOKKLVO.
(B) Ais green, Bis red and Cis blue. (B) A eivaL mpaoivo, B eivat kokkivo kot C eival pmAe.
(C) Aisred, Bis blue and Cis green. (C) A eival kOkkwvo, B elval e kat C elval mpdotvo.
(D) Ais green, B is blue and C is red. (D) A eivaL mpdowvo, B eivat pmAe kat C elval KOKKLVO.
(E) Ais blue, Bis red and Ciis green. (E) A elvat pmAe, B kOkkLvo Kal C pactvo.

4 point problems (9éuata 4 puovadwv)

9. Which piece completes the picture?
MoLo KOUUATL OAOKANPWVEL TNV EKOVQ;

(A) (B) (€ (D) (E)

10. A village of 12 houses has four straight roads and four circular roads. The map shows 11 of the
houses. On each straight road there are 3 houses. On each circular road there are also 3 houses.
Where should the 12th house be put?

‘Eva xwplo pe 12 omitia £xel T€ooeplg euBeic SpOpOUC Kal TEGOEPLE KUKALKOUG Spopouc. O xaptng
Selyvel 11 amo ta omitia. Y& KAOe euBU Spdpo umapyouv 3 ormitia. Y& KABe KUKALKO SpOUO UTIAPXOUV
emnionc 3 crﬁiua. MoV mpémel va tomoBetnBei to 120 omity;

(B) B (c)c (D) D (E) E
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11. Five shapes are made by gluing cubes together face to face. Which shape uses the most cubes?

Mévte oxnuata kataokevalovral e KOAANon KUPBwv £6pa mpoc €6pa. Molo oxua XPNOLUOTOLEL TOUG
TeEPLOCOTEPOUG KUBOUG;

(A)% (B) % (C)% (D)s (E)%

12. A number is written on each petal of two flowers. One petal is hidden.
‘Evag aplBuog ypadetal oe kaBe métaho 500 AouAoudiwy. Eva mETado gival KpUpHEVO.

The sums of the numbers on the two flowers are equal. What number is written on the hidden petal?
To aBpolopa twv aplBuwv ota Suo AouAoudia eival ioo. TL aplBuog elvat YypapUUEVOG OTO KPULLUMEVO
TLETAAO;

(A)O (B)3 (C)5 (D)7 (E)1

13. Which of the following pictures has more green than the others?
Mola armo TIG TAPAKATW ELKOVEC EXEL TIEPLOCOTEPO MPAGCLVO ATIO TIC AAAEG;

(A) (8) (© (D) LS (E)
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14. Mary wants to write the numbers 1, 2, 3, 4, 5 and 6 inside the six squares of the figure. She wants a
different number in each square. She wants the sum of the numbers in the blue squares to be 10. She
also wants the sum of the numbers in the yellow squares to be 10. What number must she write in the
square with the question mark?

H Mapla BéAeL va ypael toug aplBuouc 1, 2, 3, 4, 5 kal 6 péoa ota €€L TETPAY WV TOU OXIHATOG.
OéAeL 5LadopeTIkO aplOUO oe KABE TETPAYWVO. OEAEL TO ABPOLOUO TWV APLOUWY OTLG UTTAE TETPAYWVA
va eival 10. OéAeL eniong To dBpolopa Twv aplBuwy ota Kitpva TeTpdywva va givat 10. Molo aplBuod
TIPETEL VA YPAYEL OTO TETPAYWVO LLE TO EPWTNHATIKO ?;

(A)1 (B)2 (€3 (D)4 (E)5

15. This card lies on the table.
AuTn n Kapto Bpioketal oto TpamElL.

AVA

It is flipped over its top edge then flipped over its left edge, as indicated in the figure.
Meplotpedetal yupw armd TNV Avw TAEUPA TOU KOL TN CUVEXELD TIEPLOTPEDETAL YUPW OO TNV
apLoTePn MAEUPA TOU, OTtWC SelXVEL TO OYAUA.

What does the card look like after the two flips?
MNwc Ba daivetal n kapta PeTA TIG SU0 SUTAWOELG;

(A).V v e VAY | AVA (D)_YAA_ - vvvy

16. Grandmother has just baked 12 cookies. She wants to give all of the cookies to her 5 grandchildren
but also wants to give each of the grandchildren the same number of cookies.

How many more cookies should she bake?

H ylayld poAlg éPnoe 12 pmiokota. OEAeL va Swaoel OAd TA UIMLOKOTA OTA 5 gyyovia TnG, oAAA BEAEL
eniong va dwoel o kABe £va amod ta eyyovia Tov (610 aplBud UmoKOTwV.

MNoéoa akopo Uriokota Ba mpenel va PRoey;

(A)o (B)1 (2 (D)3 (E)4
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5 point problems (9éuata 5 povadwv)

17. Tom has 9 cards indicating numbers with symbols:
O Tom £€xeL 9 kapteg mou Seiyvouv aplBuol¢ e cupBoAa:

L ] ® A A n ™
.. ° [ AA A A l. - [ ]

He starts putting them on the board so that each row and column has one card with each geometrical
symbol and one with each number.

Apyxilel va ta Balel o mivaka £T0L WOTE va €XEL N KABE oelpd Kal oTtHAN pio Kapta pe Kabe
VEWUETPLKO SUHPBOAO Kal pia pe KAOe aplOpod.

Which card should go on the grey square?
Mola kapta PEMEL va TomoBeTnBel oto YKpilo TETPAYWVO;

(A) (B) (C) (D) (£) L2

18. Two identical trains, each with 31 cars, are traveling in opposite directions. When car No. 19 of one
train is opposite car No. 19 of the other, which car is opposite car No. 12?

Avo 16lou TtuTou Tpéva, To Kabéva pe 31 Bayovia, Tafldevouv npog avtibeteg kateuBUvoeLg. Otav To
Bayovi apiB. 19 evoc tpévou elval amévavtl amno to Bayove aptb. 19 tou dAou, oo Bayovt Bploketal
amévavtl amno To Bayovt No 12;

(A)7 (B)12 (C)21 (D)26 (E)31
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19. Eva the bee can walk only on grey cells. In how many ways could you colour grey just two white
cells so that Eva can walk from A to B?

H EVa n péAlooa UmopEl va TiepmatnoeL Lovo oe ykpila keAld. Me mdéoouc tpomoug Ba pmopoloate va
XPWUOTIOETE e YKPLlo Xpwua pHovo SUo Aeukd KeAld wote n Eva va pnopel va mepnatrioel amno o A
oto B;

(A)3 (B)4 (O)5 (D)6 (E)7

20. An arrow pointing from one person to another means that the first person is taller than the
second.

‘Eva B£Nog Ttou Selyvel amo To £va ATOUO 0To GANO OnUAiVEL OTL TO TPWTO ATOWO eival PnAotepo amnod
To Sevtepo.

:
j F
A

For example, person B is taller than person A.

Who is the shortest?

Mo mapadelypa, To dtopo B ival PpnAdtepo amo to dtopo A.
Molog elval o o Kovtog;

(AAA (8)B (©C (DD (E)E

21. There are some apples and 8 pears in a basket, each of them green or yellow. There are 3 more
apples than green fruits. There are 6 yellow pears. How many yellow apples are there in the basket?
Yrdpxouv Hepikd punAa kat 8 axAadia os éva kaAdbi, kabéva amod autd npactvo 1 Kitpwvo. Yrapyxouv 3
MePLOoOTEPA UAAQ amo ooa pdoiva ppouta. Yrdpyouv 6 kitpva axAadia. Nooa kitpva unAa
UTLAPXOUV OTO KaAdBy;

(A)4 (B)S (6 (D)7 (E)8
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22. Roo wrote each of the numbers 1, 2, 3, 4 and 5 in one of the circles so that the sum of the
numbers in the row is equal to the sum of the numbers in the column.

O Roo gypae toug aplBuolg 1, 2, 3, 4 kaL 5 os €vav amo Toug KUKAOUG £TOL WOTE TO ABpoLoUa TWV
oplBUwVY otn oelpd va gival (oo pe To dbpolopa Twv aplBuwv otn oTAAN.

What could be written in the circle with the question mark ?
TL0a pnopouoe va ypadTel 0Tov KUKAO LE TO EPWTNHATLKO ?;

(A) Only 5 (B)2,30r4 (C)Only 3 (D)Onlylor3 (E)1,30r5
(A)Mévo5  (B)2,314 (C) Mévo 3 (D)Mévo 113 (E)1,3/5

23. Six different numbers chosen from 1 to 9 are written on the faces of a cube, one number on each
face. The sums of numbers on each pair of opposite faces are equal.

‘E€L StadopeTikol aplBuol mou emhéyovral armd Toug 1 £wg To 9 elval YpaUUEVOL OTLG £8PEG EVOG
KUBou, évag aplBuog os kabe £6pa. Ta abpoiopata Twv aplBuwv oe kABe (gVyog amévavtL eSpwv
elvat loa.

<>

Which number could be opposite 5?
Molog aplBuog Ba unopoloe va ival anévavtl anod 1o 5;

(A)3 (B) 5 ()6 (D)7 (E)9

24. John and Olivia exchanged sweets. At first John gave Olivia as many sweets as Olivia had. Then
Olivia gave John as many sweets as John had after the first exchange. After these two exchanges, each
had 4 sweets. How many sweets did John have at the beginning?

O lwavvng kat n OAiBLa avtaAldooouv yAuKa. Apxtka o lwavvng £6woe otnv OAipLa Toéoa yAukd doa
glyxe n OAiBLo. Ztn ouvéxela, n OAiBLa £6woe otov lwavvn toéoa YAuKa 6oa o lwavvng eixe LeTd TNV
npwtn avtallayr). Metd and autég Tig SUo avtahayEg, o kabévag eixe 4 yAuka. Mdooa yAuka eixe o
lwavvng otnv apxn;

(A) 6 (B)5 (C) 4 (D)3 (E)2

10



